Calculating Altitude and Velocity

Baseline - The distance from point A (tracking station) to point C (launch pad).

Angular Distance - Determined by measuring the angle between the rocket’s position on the launch pad and the highest point reached by the rocket (point B) as seen by the tracking station or observer (point A).

Height - Distance from point C to point B.

Height = Tangent of angular distance x baseline

Time to Apogee – The length of time for the rocket to reach its greatest altitude.  

Velocity = Height (Dist.) / Time

Example #1

Baseline = 320 feet

Time to Apogee = 2 sec.

Angular distance = 76°

Tangent of angular distance = 
______________

Height or altitude = 


______________
Velocity = 



______________

Example #2

Baseline = 120 meters

Time to Apogee = 3.7 sec.

Angular distance = 49°

Tangent of angular distance = 
______________

Height or altitude = 


______________

Velocity = 



______________

Example #3

Baseline = 200 feet

Time to Apogee = 4.2 sec.

Angular distance = 65°

Tangent of angular distance = 
______________

Height or altitude = 


______________

Velocity =



______________
Example #4

Baseline = 325 feet

Time to Apogee = 5.3 sec.

Angular distance = 87°

Tangent of angular distance = 
______________

Height or altitude = 


______________

Velocity =



______________
